98.6

25
BCD
C ) (E+H)/A
14] 11,741 11,603 1 8] 45| 84 2| 98.8] 0.4
15| 11,034/ 10,874 9| 45 106 3| 98.5| 0.4
16| 11,085 10,913 2 3| 46 119 2 3| 98.4 0.4
17| 10,450| 10,306 1 5| 54/ 84 98.6| 0.5
18| 10,167| 10,026 2 12| 45 82 3| 98.6] 0.5
5,243 5,161 2 71 32 a 3| 9.4 0.7
4,924 4,865 5| 13 41 98.8| 0.3
158 158 100.0
10,009 9,868 2 12 45| 82 3] 9.6 0.5
D
18 10,167 283 2.7
5,243 95 1.8 4,924 188
3.7
10,026 2
12 45 82
25 106 107
10,026 5,161 4,865 280
2.7 9,269 92.4
326 3.3 327 3.3 47 0.5
57 0.6
144 271 23.1 1.4
26 106 107
98.6 5 4
98.4 98.3 98.8 98.9

27 12




26

14 11,603 10,863 311 45 322 62
15 10,874 10,182 310 32 307 43
16 10,913 10,158 333 44 328 50
17 10,306 9,588 315 40 325 38
18 10,026 9,269 326 47 327 57
5,161 4,702 157 17 252 33
4,865 4,567 169 30 75 24
27
98.8 98.4 99.1 96.8
10 98.6 98.3 99.1 96.8
11 98.5 98.2 98.9 96.9
12 98.7 98.3 99.2 97.0
13 98.5 98.2 98.8 96.9
14 98.8 98.7 99.0 97.0
15 98.5 98.4 98.7 97.3
16 98.4 98.3 98.6 97.5
17 98.6 98.3 98.9 97.6
18 98.6 98.4 98.8 97.7
12
100.0
99.0 08.8
98.6
98.0 98.4
e T
97.0 L _ _ _ —- —_—,r—— -
96.0
95.0
94.0 -
93.0
HO 10 11 12 13 14 15 16 17 18




12 E H BCD

48 6 11.1
45 3
35 13
1 0 2 18 3 29
0.5 0.7 0.3
46 95.8 28 13 107 109
28
94 90 95.7
10 78 75 96.2
11 66 63 95.5
12 60 55 91.7
13 65 62 95.4
14 47 44 93.6
15 48 45 93.8
16 49 46 93.9
17 54 51 94.4
18 48 46 95.8
13

H9 10 11 12 13 14 15 16 17 18



